ALLAHABAD BANK CLERK EXAM

(Exam Held 14-03-2010)

TESTH:
REASONING ABILITY

1. How many such pairs of letters are
there in the word CHARIQOT, each of

which has as many letters between |

them in the word as in the Engltsh
alphabet?

(1) None (2} One

(3)Two (4) Thrae -
(5)More thanthree
Ifrttsposmbletomakeonlyonerman
ingful word with the first, second,
fourth, and the sixth’letters of the
word'STARVING', which would be the
sacond lefter of the word from the
right eng? If more than one such word
can be formed, give X as the answer.
if no such word can be formed, give
K as your answer. .

mt @8
(3) X 41
B)K

‘CF'is relatedto'HK inthe same way
as ‘MP’is refated to

{1)SuU (2) RT
(3) RU (4) ST
{5) RS

In a certain code ‘UNDER' is wntten
as‘6152@ ' and 'DEAF is'written as
"524#7". How is "FRAUD written in that
code ? _
(1y7@56# (2) @74#65
(3y7@#65  (4) 76584

{5) None of these

The positions of how many digits will
rermain the same if the digits in the

number 86217945 are rearranged in

the ascending orger?
" (1) None (2) One
(3) Two {4) Three
{5} More than three
Ina certain code FLOWERS is writ-
ten as EKNVDQR. How is SUPREME
written in that code ?
{1} TQDROLD
(2) RTODQLD
{3) TQDDROL
{4) RTOGQDLD
(5) Nonhe of these

7. The positions of ihe first and eightn

digits of the number 56487931 are:

interchanged. Similarly, the positiohs
of the second and the seventh digits
are interchanged and so on. Which of
the foliowing will be: the fifth digit from
the right end after the rearrange-

ment 7

(17 (2)8
(39 {4} 1
83

8. What shoutd come next in the follow-
ing letter series 7

ACFHKMPRUW?

Mz @y
HU v
&7

9. Each vowel in the word DROWNED
is changed-to the next letter in the
English alphabet and each consonant
is changed 1o the previous leter in
the English alphabet and then, the let-
ters so arrived are aranged in al-
phabefical order. Which of the follow-
ing will be the second from the left
end in the new arrangement 7
()¢ &)V
@3)F @)P..

(5)Q :
10. lt-‘ 'Means -+, + means «,; % means
and“#’means ', then
40+.30—20x‘8+2=?

(1)20 (2)05
{312 (4)10
{5} 15

Directions (11— 1 6): Study the fol-
lowing information carefully and answer the
questions given below:

A shopkeeper placed eight models of
air conditioners of different companies viz.
Godrej, L.G., Samsung, Carrier, Whiripool,
Haier, Philips and Toshiba, in a row such
that Carrier is placed third to the left of Whir-
poot and tothe immediateright of LG., Philips
occupies second place from the right end
and is aiso exactly between Haier and

Godrej. Samsung is second to the left of -

Haler.
11. Which brand is placed to the immadi-
ate right of Whirlpool ?
{1} Haier. {2) Samsung

(3) Philips
(4) Toshiba
(5)L.G.
12. Which brand is placed third to the left
of Godraj ? :
{1) Carrier (2) Philips
{3)Samsung  {4) Whirlpool
8)L.G. -
13. Which brand is piaced fifth to the right
of Carrier ?
{1) Godrsj (2 LG.
(3)Samsung  (4) Haier
(5)Philips
14. Which of the fo!!owmg is definitely
frue 7
(1) Whirlpool is placed flﬂh fromthe
left end.
(2) Samsung is placed sudh from the
right end.

- (3) Carrier is placed exactly betwesn
{-G. and Samsung.
{4} L.G. occupies first position from
_ the right end.
(5) All aretrue.
15. Which of the following is the correct
pasition of Haier ?
(1) Sixth to the right of L.G.
(2) Third to the right of Toshiba.
(8) Exactly between Godrej and
Whirlpodl.
(4) Third to the left of Godrej
(5) Data inadequate
16. in which of the following is the first
brand piaced in between the second
and the third brands ?
. {1) Toshiba, Samsung and Whirlpooi
(@) L.G., Camier and Toshiba
{3} Samsung, Whirpool and Haier
{4} Haier, Whirlpoo! and Phifips
{5} Carrier, Philips and L.G.
Diractions (17— 20} : Each of the -
questlons below consists of a questien and

two statements numbared | and H are

given below it. You have to décide whether
the data provided in the statemenis are sul-
ficient to answer the guestion.

Read both the statements and -

Giva answer (1) if the data in State-
ment | alene are sufficient to answer the
question, while the data in Statement |l alone -
are not sufficient to answer the quastion.
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Give angwer (2) if the data in Stét&

ment il alone are sufficient to answer the |
question, while the data in slatement | alone 1

are not sufficient to answer the question.

Give answar (3)if the data in State-
ment | alone or in Statement il along are
sufficient to answer the guestion.

Give answer (4) if the data in both

the Statemenis | and Il are not sufficient to”

answer the guestion. . _

Giva answer (5} if the data in both
the Statements | and H together are neces-
sary 10 answer the guestion.

17. What does ka mean in a code fan-
guage ?

L ‘sakana’means ‘she may work'in
that code language.

iIl. 'na kata'means ‘work is worship’
inthat code language.

18. Whatis Sonal's rank from tha tnp na
group of 10 students ?

L. Meenu's rank is three ranks above
Sanal.

1, Sitais second from the bottom and
is three ranks below Sonal.

18. On which day of the month is defi-

hitely Dheeraj's hirthday 7

{. Dheeraf's brather corectly remem-
bers that Dhaeraj's birthday is af-
ter 15th but before 16ih of the
month,

l. Diweraj’s frisnd commectly remem-
bers that Dheeraj's birthday is af-
ter 17th but belore 21 st of the
month.

20. Howfaris Afrom the stamng point ?

{ A drives 10 km. towards East,
then takes a right turn and drives
another 10 km. He again drives 5
km. towards left and again drives

« . 15 km. towards left. Finally, he

moves 15 km. towards left and
stops.

Il. A drives 20 km. towards East,
then takes a Jeft turn and drives
another 20 km. He again drives
10 km. towards right and again
drives 25 km. towards right. Fi-
nally, he moves 30 km. towards
right and stops.

Directions (21— 23) : Following ques-

tions are based on the five three dngn num-’

bers given below:
756 421 843 615 597

21, What will be the product of the first
and the third digits of the third highest

number ?

{1) a0 {2)30
{3)35 4)24
(5) 32

22, If the positioris of the first and the third
digits of each of the numbers are in-
terchengad, which of the following wil
be the sum of the first and the sec-
ond digits of the lowest number ?
(13 @7
(36 ()8
{52

23. 1§'3'is subtracted from the first digit in
each number and “1'is added to the
third digit in each number and then if
the positions of the first and second
digits n each number are inter-
changed, then which of the foliowing
numbers wili be the second lowest ?

(1}615 (2) 421
(3) 756 (4)597
(5)843

Dirsctions (24— 29} : Ineach of the .

questions below are given four staternents
followed by four conclusions numbered L, 11,
IH and 1V. You have to take the given stats-

ments to ba true aven if they ssemtobe at

variance from commonly known facts. Read
all the conclusions and then decide which
of the given conclusions logically follows
from the given statements disregarding
commonly known facts. )
24, Statements
Ali silver are metals.
All tnetals are steel.
“Some steel are stones.
All stones are stands.
Conclusions :
I. Some stands are metals.
II. Some stones are silver,
lll. Some stands are steel.
IV. Some stones are stesl,
(1) Only il and IV foliow
(2} Only | follows
{3) Only H follows
(4) Only i follows
{5) None of these
25. Stalements :
~ Allchairs are tabies.
All tables are songs.
Some songs are riythms.
Some rhythims are pillows.
Conclusions |
1, Some tables are chairs.
IL. All tables are rhythms.
lit. Al chairs are songs.
{V. Some pillows are songs,
{1) Onlytand ifl {cllow
(2) Only | and IV tollow
(3) Orly | follows

{4) Only Il fotiows
{5) Mone of thase
Statements:
Some mobiles are pens.
Some pens are covers.

 Some covers are plates.

All plates are papers.
Conclusions :

k. All mabiles are covers.
il. Some pens are papers.
{il. All plates are pens.

. Some papers are mabiles, .

(1) Only | follows

(2) Oniy i follows

{3) Only land IV follow
(4) Only Il and IV follow

. (5) None follows
. Statements:

All shoes are tables.
Some tables are lanes.-
Al caps are lanes.

Some lanes are row.
Conclusions ;

1. Some tables are rows.,
1I. Some tables are shoes.
Hi. Some rows are caps.
IV. Some lanes are shoes.
(1) Only { and Ul follow

{2) Only |l tollows

{3) Only lil follows

 {4) Only gither t or IV follows

{5) None of these
Staternents :

All brands are boities.

All bottles are machines, -
All machines are files.

_ Altfiles arg rools.

Cenclusions ;

I. Some files are machinss.

1. Some brands are roots.

i1l. Some machinas are roots.
1V, All brands are files.

(1) None follows

(2) Only | foliows

(3)Only IV follows

{4} All foliow

{5) Only 1 and IV follow

. Statemsnts :

Some symbols ara numbers,
Some nyrmbers are letters.
Al alphabets ars symbols.
Ali pianos are letters.
Conclusions :

l. Some symbols are Iet!ers
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[l. Some numbers are pianos.
HI. No letter is symbol,
V. Some symbols are alphabets.
- (1) Only | foliows
- {2) Only Il follows
(3) Only 11l and IV follow
“(4) Only IV foliows
(5) Only either | or 11l and 1V follow
'Directions (30 ~35) : In each ques-
tion below is given a group of letters fol-
{owad by four combinations of digits/sym-
bols numbered (1), (2), (3)and (4). You have
to find out which of the combinations cor-
rectly rapresents the group of latters based

on the following coding system and the con- .

ditions and mark the numbers of that com-
bination as your answer. if none of the four
combinations corectly represents the geoup
of letters, give {5) i.e. ‘None of these' as
yOur answer.

Latters PIZ|XK|A[F|I|D[R[M

2]

QIE[w(s

Dangmbul

g

g|a|8|s|2|4|7]¢|1[@]5xe

Gonditions

(iy f the second letter is a consonant
.and the Jast letter is a vowsi, their
codes are to be interchanged.

(if} If the second as well as last letter
is a consonant, each one is to be
coded as the code for the letter 'F.
(iii) If the third as weli a3 fourth letter
is a vowel, then each one is 10 be

coded as'p’
- 80. SDGPIA
(1) @81624
(2) @82614
(3) @41628
(4) @26184
. (5) None of these
31. ZIEAKM
(1)923#pB - (2) 92853#
(3)923p3# {4) 925834,
(5) Nons of these
32, WARMFQ '
(1) %07#58  (2) %B7#50
(3)%P7THEE  (4) %700%H
{5) None of these
© 38, EDSKIM
(1)5@4#32  (2)54@324
- (3)5%@3%2 (4508328
(5) None of these
34, DEQGFA
(1)45@158 . (2)$58401
{(3)8%1450  (4) 813540
{5) Nona of these
- 35. MKEZAI
(1) #35982 -

{2) #25983

(3) #53982

(4) #25398

(5} None of these

Directlons (36— 40) : Study the fol-

lowmg arrangement carefully and answer

the questions given below :
4832ZYASE6x©@7PLETOSB28
CIMUIX%

-36. Which of the following is the fourth to
the laft of the tenth from the right end
of the above arrangement ?

(e 27
{3}L {4} E
(5} None of these
37. How many such numbers are thare
in the above arrangement, aach of
~ which is immediately preceded by a
- number and not mmediaiely toliowed

by a letter #
(1) None {2) One
(3)Two (4)Three

(5) More than three

38 it ali the symbols and fetters from the
. -above arrangement are dropped,

which of thefoliowing will be fifth fram
the teft end of the above arrange-
ment 7-

(1)4 a3

(35 w7

(5)8

39. How many such consonants are
there in the above arrangement, each
of which is immediately preceded by
a letter and immediately followed by a

vowel 7

{1} Nona {2)One
BTwo - {HThres
{5) More than three

40. Four of the following five are alike ina

cartain way based on their positions
- inthe above arangement and so form
a group. Which is the one that does

not belong to that group ?
(1) 4ZA (2) $¥5
(3) CU% (4) PTS
(s ey .

Diractions (41— 50) : In sach of the questions given below which one of the following
answer figufes on the rigit should come after the problem figures on the feft, if the

sequence were continued 7
Problem Figures _ Answer Figures _
A A ' o] 0 B0 1B & [0 E
4. |E A O ) E . . E -
1.0 (E O] E A Ef A AIEA JE Al © JA:

n- @ .8 @ O

ﬂ: .

Mm@ @ @ 5

o4
¢

R

B
Wi
H

(] |
M % |4

s
G
5

) @ 3 @ ®

« FEEER B m[A[SAlm
@’ @ ®
«| 9|9 | gl wiw|V|EE

RER RS

)@ @ W B

Y

v

|@>

@ 6 @ B
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5 * o* o‘qu Cc | A Ol 86. 7 _12=1"
48 : * DO|* Ola OjA Ola B 1) 13 2y 159
A 1.0 Ao > | x| O 53; 169 §4§ 17
1y (@ 3 4 15)] '
: (5) None of these
o L o 67. 3x4+18:+6-10="7
0 8]Fn ¢ o] PSP AR NN ms @5
: : : ' 3 7 (4) 6
' m @& B @ B (5; None of these
-! - ; B8. 37 %3+ F =30
Pl s Bt | i [Sual kaa’ Bass pea i 2 16
50. . ¢ 1] oy Gla DUA |[OUA [DUA® IHUA (1) 10 (2)
o ! 5 g gY ou® {508 [BuR |Bua }%33 | (3) 8 4 1
1 @2 @ @ (3 {5) None ofthese
726
TESTI: 36+16x36+9 - - 68 "-'.'5_=12.1
NUMERICAL ABILITY -2 (1) 6 @ 4
— , (1) 40 (2) 50 “(3) 8 4 9
: Pl {51._75) :r‘\i:h?at_m Iloo;'n:e .3 & (4) 100 {5} Noneofthese
:gﬁr?;:;;%g::gstlon mark (?)in the fol- (5) None of these 0. 950237 79— 187
51. 48:23x5=7 1.2 _ (1) 850 (2) 760
(1) 8 (2 88 ®. golporee=7 (3) 980 (4} 870
(3) 80 (4) 48 (1) 48 (2) 56 {8} None of these
{5) Noneofthese (3) 80 {d4) 68 Jio6 _
52. 1254+ 32.44-3487=" {5) None ofthese 7. == J7
(1) 1031 (2). 19.19 61. 162.5+320.8=4206+7 ) 2 @ 3
(3) 10.63 (4) 1o (1) 60.7 (2) 489 (3} 4 4.7
(5} None of these (3) e2.7 4) 7485 '
' ' -{8) Noneotthese e
o 1.l 1., 72 52%0f7=182
, 5 10 2 &gxli,ri:? . - {1) 354 (2) 350
{1) 2 {2) 1 35 48 7 (3) 360 (4) 380
' a i . 9 1 : (5) None ofthese
@ To @ 1o 35 @ 33 324 - 225
{5) None of these 16 : 11 2
(1) 25 (2) 20 R (@) 4 (4) 38
(3) 40 4) 24 S {5)- None-ofthese
55 5152) !;::nc;o{tr;ese_ &3 _“__25_42 =? LI
‘ma @w 6'-28 74 273 -83 =2
(3 (4) 46 : '2 1 B m (2) 2
(5) None of these B U R @ 3 égi ::_' o (4) 19
one of these
56. /289 -15="7 - 9 - 11 75. 468:4x5-285=7
(1) 5 @6 10 7 (1) 200 {2) 300
3 7 5 @ d (5) Noneof these {3} 400 _(4) 450'_
s 64. 30%of 7 =54 (5) None ofthese
67- 425+ 363 -7 =536 : »
o ' 1} 160 2} 145 76. Ifthe perimeter of a square is 48 cm.
{1} {2} :
ey (2}._ 232 : 1 what is the measure of #is side ?
(3) 240 (4 252 (3) 170 (R _
| (8) None ofthese i (5) None ol these ) 8om.
SRl P 85. 39.94+48.36-21.76=7 (2) 10cm.
. ) 16 ) 24 {1) 6364 {2) 8654 (3) 12em.
(3) ) 4 36 (3} 68.74 (4) 69.56 (4) 16cm.
(5) Noneotthese (5) Noneofthese BIRL G i)
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77. ffasum of Rs. 736 is equally divided

81.

(3) Rs.42

(1) 250

among twenty thres people, then how
much amount will @ach person get?
(1) Rs.30 (2) Rs.32

(4) Rs.46

(5} Noneofthese

Thae ratio betwsen the persent ages
of Ram and Rahim is 3 : 2 respec-
tively. Also, the ralio between the
present ages of Rahim and Aman is
5 : 2 raspectively. What is the ratio
batween the prasent ages of Ram and
Aman respectively ?

(1) 4:15

{(2) 15:4

(3) 9:5

(4) Cannotbe daterm;ned

{5) Noneofihese

. {7} is added to a number, the value

s0 obtained is 52, What i3 the num-
ber ?

(h & (2) 8
3)5 {4) 3
(5) Noneofthese
B 3 6 1
. Out of the fractlon. 7101113

3 . .
and 5 which is the second highest

fraction?

DR~ @ 17
- 11 _ E
® 73 @ 3

(5) None of these

If the cost of 28 pens is Rs. 420 then
what is the cost of 20 pens?

{1) Rs.260  (2) Rs.280

(3) Rs.300  (4) Rs.320

(5) None of these '

Jygti had 620 toffees, out of which
sha gave 220 tofees to Disha and
130 toffess to Jasming, How many
totfeas were remaining with Jyoti?

| (2) 280

{3} 280 {4) 20

(5} Mons ofthese

What will come in place of both the
question marks (?) in the following
equation?

(G

32 . .
() 26 @ 34
@) 36 4) 24

{5} Moneofthese

84. The profit made on selling an item of

cost price of Rs. 1,650 is Rs. 210
What is the selling price of that item?
{1} Rs.1820 -

(2} Rs. 1850

{3) Rs. 1760

{4) Rs. 1820

{5) Nongofthese

85. The speed of a frain is 60 kmvhr. The

driver exceeds the speed of train by

- 12 ken/hr. What is percent gain in

speedcritraln’?
(1) {2) 15
(3) 20 (4) 25

(5) None ofthese

| 86, Thearea of areclangleis 221 square

metre and its length is 4 metre more
than its breadth. What is the measure
of its breadth?

(1) 13metre {2} 14 metre
{(3) 17metre {4} 19 metre
{5) None of these

87. The present age of Surajis six times

the age of Viay. Also, Vijay's present
age is 20 years less than Suraf’s age.
What is Suraj's present.age?

(1) 20years
(2) 22 years
(3) 18years
(4} 16years
(5} None ofthese

88. Anumber when added to two-third of

itseif gives the value 150. What is that
Aumber?

(1) 60 . 2) 5
(3) &0 (4) 0

.{58) None ofthese

89. What will be the simple interest ac-
crued on a sum of Rs. 4.050/- ata.

rate of 8% p.c.p.a.in 2 years? -
{1) Rs.508 '
(2) Rs.670

_(3) Rs.840

{4) As. 648 _
{5} Noneoftfhese

90. Ajithas s, 26 more than Anuj. Anu;

. has Rs. 60 more than Ravi. H all of the
three together have atotal of Rs. 200,
then how much amount does A]:t
have?.

{1) Hs.?B (2) Rs. 68

{3) Rs. 104 (4) Rs.108

{5) None ofthese

91. In a tesi, a candidate got 38 marks

less than the minimum passing
marks. H the minimum passing marks
are 230, then how much marks did

the candidate get?
(1) 200 @) 198
(3) 192 (4) 182

(5) Noneofthese
Fifteen men ¢an complete a piace of
work in 20 days. How many men will
complete the same workin 25 days?
(1} 12 2) 13

(3) 10 4) 8

(5) Noneofthese

In how manry different ways can the
jetters of the word 'SOME’ be ar-
ranged? '
(1)} 20° (2) 24

{3) 16 {4} 30

(5) Noneof these

Directions (94-985) : What should

come in place of question mark (?} in the
following number series?

84,

79121621 27 (7}
(1) 29 2) 33
(3) 36 (4) 34

(5) None ofthese

. 256 128 64 32 18 8 (?).
{) 6 (2) 5
(3) 3 (4) 2

100,

{1} 8em

{5} None cf these

. Whatis the average of the following

set of numbers?
112,102,133, 116 and 127
(1) 108 (2) 118
(3) 128 {4) 110
{5) None ofthese

. Rajiv purchased six calculators at the

costof Rs. 590, How many claculators

‘can he purchase from Rs. 920 ?

(1) 8 (2) ©
{3) 1 4y 12
(5) Noneofthese

. The area of a circlg 15 154 square

cm. What is its diameter?

{2y 7om.

{3} 1dcm. {4y 22cm.

{5) None ofthese '

The ratio of the angles of atriangle is
2:3:5. Whatis the sum of the small-
est and the largest angles?

(1) 120° {2) 122°

(3) 144° (4) 126°

(5) Noneofthese

What feast number shouid be sub-
tracted from 98010 make it a perfect
square?

(1) 20 (2) 23

(3) 8 4) 17~

{5) None ofthese
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TEST-I
ENGLISH LANGUAGE

Directions (101-1158) : Read the fol-
lowing passage carefully and answer the
questions given below it. Centain words have
been printed in boidto help you locate them
while answesing some of the questions.

_ In a village in the East, there lived an
old couple. They did not have any children
and never spent an extra paisa on them-
selvas. They never repaired their house or
cooked good food. One day, afamily moved
into the village. 1t was their son's second
birthday and they sent two delicious lad-
doos to the old couple. The couple ate the
laddoos with great relish. For days after they
‘couid talk of nothing eise. Finally the okl man
could take it no more. He said to his wife,
*Let's buy the ingrodients to make just two
laddoos.” His wife agreed but said, “if | make
the laddoos at home, the neighbours will
know and will want a share. Let’s cook in
the woods behind our hut. That way no one
witl ever know.”

" The next day the old man purchased
the ingredients from the market and they
set off tothe woods. Having never propared
food like this before, they ended up with
three laddoos instead of two. The old couple
- returmned home with the sweets, dying o eat
them. But there was a problem. “it was my
idea and | went to the market, so | ought to
- gat two,” said the old man. But his wife re-
fused to give in 50 eastly and said, “Since |

prepared the swesets, | ought to have two.
“The day wore on and the argument contin-
Lm .

Atlast, the old man suggesied, “Letus
not talk to each other. Whoaver breaks the
silence first wilt get one laddoo and the oth-
er person two” His wife agreed. Hours
passed, but neither of them spoke and fi-
nhily they fell asleep with the bowl of sweets
between thern. That evening one of the neigh-
bours khocked on the door but the couple
did not answer for fear of lesing the bet.
Peering through the window, the man saw
the couple lying on the floor with an un-
touched bowl of food. “They are deadl”He
shouted and alerted the cther villagers. Soon
the doot was broken down and the house
was swarming with villagers. They dis-
cussed everyihing from the funeral to where
the couple had hidden their wealth, But the
coupie lay still.

-Finally, the villagers carned themtothe
cremation ground. As the flames licked his
feet, the old man jumped up screaming “You
win " His wife jumped up too, happy that

”

she had won. The two then rushed home
leaving the bewildered viliagers present
there behind. But when they got home....
Alas the door had been left open and they

found a stray dog licking the last crumbs of

the sweets from the bowl.

101, What caused the old couple’'s sud-

“den longing for laddoos ?

(1) They hadn't eaten good food for
sevaral days

(2} They had aftenced their neigh-
hour’s party and enjoyed the lad-
doos served

(3). They saw the mouth watering
laddoos being servedto guests
at the party '

{4} They hadtastad the laddoos pre-

pared for their neighbour’s son’s

birthday
{5) They thought that the laddoos
would satisfy their hunger for
days to come
Why did the old couple cook in the
woods ?
(1) it was very convenient to gather
firewood
{2} To avoid the risk of their hut barn-
ing down
(3) To keep tha fact that they were
- preparing laddoos a secret from
their neighbours
{4} To hide the fact that they did not
know how to prepare laddoos
from their neighbours
{5} They did not have the ingredients
1o make enough laddoos for their
neighbours as wel
Which of the following can be said
about the old couple ?
{1) Thay did not have any relatives
to look after them in their old.age
(2) They were misers and did not
spend sven on keeping their
house in good condition
{3} They were not allowed to eat
sweots as they were oid
(4) They were fond of animals and
sometimes shared their food with
siray animals
{5} They ware afraid of the villagers
and hid fromthem
Which of the following is/are True in
the context of the passage 7
{(A) The old woman had prepared
more laddoos than she had in-
tendsd.

102

103.

104

(B) The family who had recently

moved into the village were fond
of the old couple.

{€) The viflagers were saddened by -
' the death of the oid couple and
gave them a grand funeral.
(1) Only (A)
(2} Only (B) and (C)
(3) Onty {A} and (B)
{(4) Al {A), (B) and (C)
{5) None of thgse
Why did the heighbour peep into 1he ]
oidcouple’shouse ? -
(1) To learn what they were being )
50 secretive abowt -
{2) To spy on them and discover
where their wealth was hidden
- (3) Yo complain as they had cooked
in the forest : -
(4) Tocheck upontheold couplﬁas N
" hedideveryday &
(5) Notclearly mentionedinthe pas L
sage
106. What puzzledthe villagers ?
(1) The old couple did not die in the
fire
(2) - The sight of the old couple whom '
they had presumed dead, allw_a__
{3) The factthatthe old couplehad - -
wasted Qoodiood

105,

{4) The lack of concern the old -

. woman had for her husband

(5) The oid couple fed the Iaddoos
to the dog

107. Why did the old man scream ;when o
- surrounded by the villagers 7 '

(1) Hewasafraidthat hiswrfewould
getburned

{2) Toscare sway the villagers who- -

wanted to kit him for hismoney . -

(3) His wife refused to allow himto
. eatmore than one laddoo

{(4) To indicate 1o the wliagers that”
hewas alive

{5) The tearof beinghurtin the fire

What did the old couple dlsagree

about ?

-{1) Where they would cook lhea.r,_ '
meal _

108.

(2) Which of them was entitled 10 the |
first taddoo .
(3) Whether to share the exlra lad-
doo with their neighbours -
(4) The quamlty of laddoos that they )
had made ac
.- {5) None of thess
108. What was the villager's reaction 10 the '
old couple's presumed ‘death’?
(1) They were upset and afl came to . -
_paytheir lastrespecta
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(2) They were worried about how to
pay for the funerai
© {3) They could not decide whattodo
. with the couple’s wealth .
{4) They disliked the old couple and
demolished their housa. :
{8} They dutifully arranged the cou-
T ple'slastrites
110. Why did the old ¢coupts initially not re-
veal that they were alive to the villag-
ers ? '
(1 To learn the vitlagers' true opumon
. of them
.{2) They did not like the villagers and
.- were mocking them
- (3) Neither of thern wanted to be the
firstto speak and |ose the bet
"(4) To test the honesty of the villag-
©oers :
(5) None of these _

Directions {111-113) : Which of the
foiiowing is most similar in méaning to the
" word giveriin bold as used in the passage.

111. SHARE '

(1) haf @) part
.(3) pasticipate  (4) divide
- (5) eommon
112 BREAKS

(1) mterrup_ts (2) separates
(3) solves {4) defeats

. - .(B) escapes

" 118. PASSED -

~ {1} overtook  (2) occupisd

(3} unnaticed  {4) ‘elapsed
{3} succeeded

Directions {114-118) : Which is
maest oppositeé in meaning to the word giv-
eninbofd as used in 1he passage.

114, STILL

. {1}restless  (2) noisily

{3) conscious (4) calmly

£5) lifeless o
115, LAST .

{1} new (2) begin

{3) constant (4} discontinue

(5) first

Directions {116- 125} Read each

sentencs to find out ‘whethar there is any

. grammatical mistake etror in it. The error, if

“any, will be inone part of the sentence. Mark

-the numbér of the answer. If there is no er-
ror, mark's’.

116 Thie main advantage of {1 )I investing
such schemes (2)/ is that you will not
(3) have to pay any taxes (4). No

- error (5) o
That customer has {1)/ written a fet-
ter (2)/.thanks thie manager (3)/ for
her timely help. (4). No error (5}

17

| 124,

-118. Qur company was recently (1)/
award the contract (2)/ to construct
two major (3)/ bridges in the state.
(4). No error (5}

Accordingly the circular (i )fthat was
issued yesterday RBI (2)/ has raised
therate at {3) which it lends to banks.
{(4). No error (5}

Their company is going to incur (1)/
heavy losses this year because (2)/
of the big discounts they (3)/ offers to
customers.(4)/ No error (5)

A large number of policy (1) have
lapsed because many (2)/ people
have not paid {3)/ their instalments
ontime. (4). No error (5)

The Foreign Investment Promotion
Board is 1)/ the govermment body
who () regulates investment re-
ceived (3) by Indian factories from
foreign countries. (4). No error (5)
The final decision carn: (1)/ be taken
only after (2)/ we consider all {3)/ the

18,

120.

121.

122,

123

If his aim is to {1)/ buy a house inthe
(2} next three years he (3)/ should
start immediate saving. (4). No er-
ror (5)

Can you explain why (1)/ you were
late this momning {2)/ when ws had to
make (3) such an important presen-
tation ? (4). No error (5}

Directions (126-130) ; In each ques-
tion below a sentence with four words printed
in bold typa is given, Thaese are numbered
as {1), {2}, (3) and (4}. One of these four
words printed in beldmay be either wrongly
spolt or Inappropriate in the context of
the sentence. Find out the word which is

125,

| wrongly spelt or inappropriate, if any The

number of that word is your answer. I all the
words printed in bold are correctly speit
and also appropriate in the context of the
sentence, mark (5) i.e. All comect' as your
answer. :

128. He found {1}/ the company in 1980
to provide (2)/ electricity to people
living {3)/in rural areas. {4)/ All cor-

- rect (5}

127. Salaries (1) of bank employees (2)/
are likoly (3)/10 go abova (4)/ by ten
percent. All correct {5)

The Chairman has promissed {1)/
to lcok {2)/ into the matter (3)/ and
take necessary (4)/ action. Al cot-
rect (5}

Since (1)/ the interest rate on bank
deposils is low (2)/ at present, peo-
ple prefar (3)/ to deposit their sav-
ings {4)Ain post office schemes. Al

128

- 129,

correct (5)

panel suggestions. (4). No efror (5)

130. Most (1) projects are delayed (2)/ -
bacauss of the absents (3)/ or prop-
er planning (4)./ Al correct (5)

* Directions (131-140} ; In the follow
ing passage there are bianks, each of which - .
has been numberad. These numbers are
printed below the passage and against each,
five words are suggested, one of which fits
the blank appropriately, Find out the appro- -
priate word in each case. '

A rich merchant owned a beauttfui
horse. Now, one of his neighbours was keen
1o {131) this horse.. He offered the merchant
gold, {132} the merchant refused. This an-
gered the neighbour, He (133) to trick the
merchant. He disguised himself (134) a beg-
gar and lay down at the {135) of the road, -
that the merchant used everyday. (136} at -
the sad plight of the beggar, he (137) ffrom -
his horse and gently lifted the beggar{138)
his horse. No sooner did the beggar getinto
the {139) than he gatloped away. But hear-
ing the merchant {140) out 1o him, he
stopped when he was a safe distance away.
“Please don't tell anyona how you came to -

‘possess this horse. Soma day an ill man

may be lying by the roadside and pecple
who have heard about your trick, may not -
want fo help, “said the merchant. The mer-
chant’s neighbour was deeply ashamed,
rade back and returned the horse to the -
merchant.

131, (1) sell (2) buy
(3} steal (4} free
(5) train
132. (1} since {2} so
{3) unless (4) atherwise
(5) but .
133. (1) deceived (2} desires
{3) dacided {4) declined
(5) deliberately
134, (1)ysimilar {2) being
(3yalike - {4)as
(5) identical )
135. (1)side {2) middle
(3) gutter {4) ending
{5) distance
136. (W Unhappily  {(2) Carefully
'(3) Distressed  {4) Misery
(5) Upsetting
137, (Dclimbed {2) stepped
(3) jump {4)iell '
(5)dismounted
138. (1) onto {2) with
(3) above {4) from
(5) off o
139. (1) way {2) sadidig
(3) arms {4) horse
~ (5)danger L
140. (1)beg {2) appeal
(3) shouted {4) call
{5) cried
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TEST-IV : CLERICAL APTITUDE

Directions (141-165) : In each guestion below a cémbination of Name and Address is given in the first unnumbered column at the
left fotlowed by four such combinations one sach under the columns 1, 2, 3 and 4. You have to find out the combination which is exactly
the same as the combination in the first unnumbeted celuma The number of that column which contains that cornbinanon is the answer.
if allthe comblnaﬂons are different, the answer is'5".

141. MansiArora Manvi Arora Mansi Arora Mansi Arora Mansi Arora None
Sagar Apts ". Sagar Apts Sagar Apts Sagar Apts ‘Sagar Apts
VaniVinar VaniVihar BanlVihar | VaniVihar VaniVihar
M.P-82 M.P-82 M.P-82 M.B-82 M.P-92

142 Sonam Mishra Sonal Mishra Sonam Mishra Sonam Mishra Sonam Mishra None
L.H. Road ! H Road LK. Road L.H. Road LH. Road
TPS - . TPS-1N TPS -1 TBS -1l TPS-1li
New Deki-01 New Delhi-01 New Delhi-01 New Dethi-01 New Dethi-01

143. Anish Shama Anish Sharma Amish Sharma Anish Sharma Anish Sharma None
122, BWing 122, BWing 122, B Wing - 122, D Wing 122, BWing
Symphony S, Symphony Soc. Sympheny Soc. " Symphony Soc. Symphiony Soe.
Mumbai-411 - Mumbai-411 Mumbai-411 Mumbai-41t . Mumbai-114

144. Delta Const. Detta Const. Detta Const. Deha Const. Delta Const.
Sector 125 Sector 126 Sector 125 . SBector 125 Sectior 125
DN. Road D.N. Road D:N. Road D.M. Road D.N. Road
MNoida Noida ' Noida Noida Noidy

145. Nagpal & Sons Nagpal & Sons Nagpal Sons - Nagpal & Sons Nagpal & Sons MNone
Opp.B.T. Colony Opp.B.T. Colony Opp.B.T.Colony - Opp. B.T. Colony Opp.B.T.Colony '
Panchiula Panchkula Panchkula Panchkula - Panshkula
Tel-3119867 Pin-3119867 Tel-3119867 Tel-3119867 Tek3 1. S867

148. Rewa Stores Rewa Stores Reva Stores Rewa Stores Rewa Stores None
Indira Mkt. Indira Mkt. Indira Mkt. India Mkt. Indira Mkt. '
Block A Biock A Block A Block A Block A

_ Fax: 231975 Fax: 231975 " Fax :231975 Fax:231975 Tel: 231975

147. Kishore Tech Kishore Teck Kishore Tech Kishore Tech Kishore Tech None
IFC1Plaza IFCI Plaza IFCI Plaza "ICF| Plaza IFCl Plaza -
G.N. Marg G.N. Marg G.N. Marg G.N. Marg G.N. Marg
Rourkela-10 Rourketa-10 Rourksla-i0 Rourkela-10 Raurkela-10

148. Ajantainc. Ajahtalinc. . Ajantatnc. Ajantainc. . Ajantafnc. MNonge
Rupali, R-19 Rupaii, R-81 Réopaii, R-19 Rupali, R-19 "Rupali; RB-19
Noar A.B. Est, MNear A.B. Est. Near A.B. Est. Neoar AB. Est. Near A.B. Est.
Pin-700084 _Pin-700084 Pir-7000G84 Fi-700884 Pin-700084

149. V. Muttiah V. Muttiah V. Muthiah V. Muitiah V. Muttiah None

- A-81, Janaki A-81, Janaki A-B1, Janaki A-18, Janaki A-81, Janaki

Anna Nagar AnnaNagar Anna Nagar Anna Nagar Annhe Nagar
Chennai 10 Chennai 10 Chennai 10 Chennai 13 - Chennai 10

150. Manali Centre ManaliCenter Manali Centre Manali Cenire Manali Centre None
Sant Enclave - Sant Enclave " BantEnclave Santa Enclave Sant Enclave
Opp.BusDepot. - Opp. Bus Depot. " Opp. Bus Depot. Cpp. Bus Depot. Opp. Bus Depat.
Patala Patala Patiala ' Patiala Patiala

151. Sania Mehta Sonia Mehta Sania Mehta Sania Mehta Sania Mehta - None
Plot 24/2 Plot 24/2 Plot 24/2 . Plot224 Plot 24/2
Sector Xil Sector X1 Sector Xl “Sector Xl Sector Xl
Rohini Rohini Rohini Rohini Fichiri

152 Ganechari Ent. Ganechari Ent. Ganechari Ent. QGanechari Ent. - Ganchari Ent. Nons
Anand Bhawan Anand Bhawan Anand Bhavan Anand Bhawan Anand Bhawan
Indere -18 Indore - 81 indore - 18 indore - 18 tndore- 18
Ph. 4084464 Ph. 4084454 Ph. 4084464 Ph. 4084464 Ph, 4084464
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153.

154,

185,

156.

1a7.

158.

159.

180.

167,

162,

163.

164.

165,

K. C. Chowdhary

- Asha Hsg. Soc.

Rajarhat
Kolkata - 56

Agarwal Farms
105/49-C
Kovilpatti
South 628501
SanjeevVarma
ShafimarSg.
286, Lathaug
Lucknow-26

Nitin Assoc.
AM02 Oricn
Tolstos Bldg
Faridabad-92

C M X Systems
Todindl, Est.
Near Fortis
Dehradun - 12

Soni Elactronics
E-17,CHS
Susneha
Nagpur - 41

Prasad Media
S.D. Layout
Tirupati, 19
Ph. 2286620

Sahay Corp.

7/0°Sri Maida™
Nageshwar
Bhubaneswar

Panda Xerox
87, Ansari St
Besant Rd.
LIC Colony

Skyz Gables
3B ﬁamani
New Enclave
Jaipur - 52

M. J. Bhatia

42, C.H. Avenue
RNA Complex
Nashik

Franc. Publ.
Bungalow, 9
Shanti Hosp.
Pune 411009

R. M. Pillai

6 - Ramkunj
MogalLane

Mahim- 16

K. C. Chawdhary
Asha Hsg. Soc.
Rajarhat
Kolkata - 56
Agrawai Farms
105/49-C

Kovilpatti

South 628501

SanjeevVerma
Shalimar Saq.
26, Lalbaug
Lucknow-26

'Nitin ASSOC.

AM102 Orion
Tolstos Bldg
Faridabag-92.

C M X Systems
Todi Ind!, Est.
Near Portis
Dehradun - 12

Soni Electronics
E-71,CHS
Susneha
Nagpur- 41

PrasadMedia
5.D. Layout
Tirupati, 19
Ph. 2288620

Sahay Corp.
7/B'Sri Malda™
Nageshwar
Bhubaneswar

Panda Xerox
87, Ansari St.
Besant Rd.
LIC Colony

Skys Cables
3 B Ramani
New Enclave
Jaipur - 52

M. J. Bhatia

42, C.H. Avenue
RNA Complex
MNashik -

Frank. fubl.

‘Bungalow, 9

Shant Hosp.
Pune 411009

R.N. Pillay

6 - Ramkunj
MogaiLane
Mahim - 16

K. C.Chowdhary
AshaHsg. Sec. -

Rajarhat
Koikata - 56

Agarwal Farms
105/94-C
Kovilpatt
South 628501

SanjeevVarma
Shaliknar Sg.
26, Lalbaug
Lucknow-2¢6

Nitin Assos.
A102 Orion
Tolstoj Bidg
Faridabad-82

CMX Systems
Todi Ingt. Est.
Mear Fortis
Dehradun-12

Sont Electronics
E-17.CHS
Susnsha
Nafjpur- 41 -

 Prasad Media

S.D. Layowt
Tirupati, 19
Ph. 2286620

Sahay Corps.
7/0'8ri Maldz’
Nageshwar

Bhubaneswar

Panday Xerox
87, Ansari St,
Besant Rd.
LIC Coiony

Skyz Cables
38 Ramani
New Enciava
Jaipur - 52

M. J. Btwitia

42, C H. Avenue
RNA Complex
Nashik

Franc. Publ.

~ Bangalow, 9

Shanti Hosp,
Pune 411009
R.N.Pila

& - Ramkonj

Megal Lane
Mahim - 16

K. C. Chowdhary
Asha Hsg. Soc.
Rajaghat
Kolkata - 56

Agarwal Farms
105/49-C
Kovilpatti
South 62851
SanjeevVarma

Shalirnar 5q.
62, Lalbatg

Lucknow-26

Nitin Assoc.
AM02 Drion

Tolsto} Bidg

Faridabad-92

C M Z Systems
Todi Indl. Esl.
Near Fortis
Dehradun - 12

Soni Electronics
E-17,CHS

. Susneha

Nagpur-14
Prasad Media
5.0 Layout
Tirupati, 19
Pi. 2286620

Sahay Corp.
7/DShri Malda’
Nageshwar
Bhubaneswar

Panda Xerox
78, Ansari St
Besant Rd.

LIC Colony

Skyz Cables
3 B Ramani

‘New Enclove

Jaipur- 52

M. J. Bhatia

42 C.H. Avenue
DNA Complex '
Nashik

Franc, Publ.
Bungalow, ¢
Shanti Hosp.
Pune 411009
R. N. Piliaj

6 - Ramhunj

Mogaltane
Mahim - &1

K. C. Chowdhary

AshaHsg. Soc.
Rajarhat
Kokata - 56

Agarwal Farms
105/49-C
Kovilpatti
MNorth 628501

SanjeevVarma
Shalimar Sq.
26, Lalbagh
Lucknow-26
N#in Assoc.
A/102 Orion
Tolstoy Bidg
Faridabad-92
C M X Systoms
Todi Indl. Est.
Near Fortis
Dehradun - 21

Soni Electronics
E-17,GHS
Susneha
Nagpur - 41

Prasad Media
S. D. Layout
Tirupathi, 19
Ph. 2286620

‘SahayCom.

7/0°SriMalda’ -
MNageshwar
Bhubaneswar

Panda Xerox
87, Ansari St.
.Beasant Rdl.
LIC Colony

Skyz Cables
3B Ramani

New Enciave
Jaipur-52 -

M. J. Bhatia

42, G.H. Avenue
BNA Complex
Nashik

Franc. Pubi.
Bungaiow,

" Shanti Hosp.
- Pune 411009

B. N. Pillai

& - Ramkunj
Mogal Lane

Mahim - 16
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Diractions (166—170) : The letter
group in each quastion below is to be codi-
fied as per tha following letter codes.

Letter B I [K[Y|L|W|P[A]X!IF

Code

You have to find out which of !he' an-

swars (1) or (2) or (3) or {4) ttas the correct
coded form of the given letter group and |

indicate it on the answersheet. 1f none of the
codad forms is corract, mark {5)ie ‘None
. of these' as the answer,

166, PXAMB
{1) 309764 (2) 307946
(3) 309746 {4) 309674
(5} None of these
167, LYBXKI 2
{1) 186024 (2) 180624
(3} 184206 {4) 186042
{5) None of these
168, WAFLYX _
(1) 759801 {2) 795180
{3) 790815 (4) 791508
(5) None of these'
169, PBKYXL _
{1) 362810 {2} 326810
{(3) 328601 {4) 362801
(5) None of these '
- 170. KYAWFB
(1) 289765 {2} 208765
(3) 287956 (4) 289756
(5) None of these

Directions (171—175) : Below in each
question five words are given. Which of themn
will come in the third place if &ll of them are
arranged aiphabetlcally The serial number
of that word is your answer.

171. (1) advance (2) afraid
(3) admire {4} adversa
' {5) admit :
172. (1) detail (2) degree
(3) desire (4) discuss
{5) dorail .
173. {1) small {2} smog
{3) smoke (#) smell
(5} smiile
174. (1) role {(2) roar -
{3) roast {4} rock
. {B) rogue _
175. (1) .relief - (2) relax
(3) relay (4) regret
~ (5) relapse

Directions (176-180) : The news in
each question below is to be classified into
ane cf the following five areas :

Numberls | 4|2 (8] 1] 713]98(0(5 |

(1} Poltics
(3) Spoits
{4) Science and Health
{5) Miscellaneous

176, Foreign University 1o set up five cam-
puses in India by March 2012,
(1) Politics (2) Social Issues
{3) Sports
{4} Science and Health
(5) Miscellaneous

177. Inflatior: hits all tiime high oMOpercem
(1) Politics {2) Social Issues
(3} Sports
{4) Science and Health
(5) Miscellanaous

178, Four Indian referees appointed for
Hockey World Cup.
{1} Poiitics {2) Social Issuas
(3} Sports
(4} Science andHealth
(8) Miscellanecus .

179, State sponsored climate study 10 gauge
threat to Himalayan glaciers.
{1} Politice (2) Social Issues
3) Sports
{4) Science and Health

. {5) Misceilanecus

180. Ragging incidents on the Risa - Par-
ents demonstrate outside University,
(1) Politics (2) Social Issues
(3) Sports
{4) Science and Health

. {5} Misceltansous

TEST-V:

(2) Social Issues

181, The most widely used input device is
the .

{1) mouse
(3) modem
{5) None of these
ACPUcontaing____

(1) & card readsr and a printing de-
vice

{2) keyboard
(4Y monitor

182

(2)an analytical engine and a control

unit
{3}a-controt unit and an arithmetic
logic unit

{#) an arithmetic logic unitand a.card.

readar
{(5) None of these

183. The abﬂityofar‘rOStb run more than

“one application at atimeiscaed
{1 multitasking
{2) object-oriented programm mg

COMPUTER KNOWLEDGE |

184.

185,

186.

| 187,

188.

189,

190.

"~ {3) Hypertext

1 191.

{3) mutti-user computing
(4) time sharing
(5) None of these

Permanent ingtructions that the com-
puter uses when it is turned on and
that cannot be changed by other in-

- gtruetions are contained in
"~ (1) ROM

(2)RAM
(3) ALU (4} REM
{5) None of these :
Computations and logical operamns
are performedbythe_____ '
(1) RAM (2} AL U_
. (3) Register (4} Control unit
(5) None of these _
The benefit of using compulers is
that____.
{ 1) Computers are very fastand can
store huge amounts of data
{2YComputers provide accurate out- .
put even when inputis incorrect
(3)Computars are designed to be in-
flexdble

- {4)All of these

{5¥None of these

Deveioping sets of instructions for the
computer to foliow and to do the task
the same way as many tlmes as
needediscalled_____

(1)listing {2) seq_uencing _

" (3) programming {4}.directing

{5) None of these .
The term used to define all input and.
output devices in a computer sysiem
is :

(1) Monitor {2) Software

{3) Shared resources '

{4) Hardware-

(5} None of these

What type of FESOUrce.is most likely
to be a shared common resource in
acomputer network?

(1) Printers {2) Speakers
(3) Floppy disk drives .

(4) Keyboards

(5) None of these

The vast network of computers that
connects millions of people all over
the world is called .

(1) LAN (2)Web

{4 intemat
(5) None of these

Which is not an item of hardware‘?
(1yAn MP3tile (2} A keyboard
{3) Adisk drive (4} Amoniter
{5} None of thesea
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192,

193.

194,

185,

186.

197. .

To shrink a window to anicon__
{1) open a group window
(2) minimise a window
(3) maximise a window
(4) restore a window
{8) None of these

200.

Computers connected to a LAN (local | -

area network) can

(1} run faster

(2) goon line

{3) share information andfor share
peripheral equipment

{4) E-mait

(5) None of these

The portion that shows all the chonoes
you can make while working in a win-
dowis called the

{1) options (2) table-
{3) menu bar (4} tem bar
(3) None of these

is the process of carrylng out
commands. 5

(1} Fetching {2} Storing
(3)Decoding  (4) Executing
{5) None of these

Which of the following is a common
extension used in the file names for
application programs?

(1) EXE {2YDIR
{3)TXT {4} DOC
{5) None of these

Which of the following is not true

* about passwords 7

(1) A password should ba a combi-
nation of mixed case glphanu-
meric characters

{2) Password should ba maximum 6

~ characters inlength

- {3) A password that can be memo-

rized easily shouwd be used, so
y thatit need not be noted down
(4) A password that can be typed
quickly without much effort should
be used :

{5) None of these

198 A(n) —contains cormmmands that can be

198,

selectad.
(1) pointer
(3)icon
{5) None of thesa
.is a set of computer programs
that runs or controls computer hard-
wara and acts as an interface with
application programs and usars.
(1) Objectcode (2) A compiler
{3) An operating system
(#4)TheCPU - (5)None of these

{2) menu
(4) button

210,

Anocther word forthe CPUis _

(1Y microprocessor

{2) execute {3) micro chip

{4) decode (5) None of these
Hardware devices that are not parn
of the main computer systern and are
often added later to the.system are

{1) clip art
{3) execute
(5) None of these

{2} highfight
{4) peripherals

Information on a computer is stored’

as-

(t}analogdata’ {2)digital data
{(3Ymodem data (4) watts data

{5) None of these

If you wart to move anicon on your
desktop, this is called

(1} double clicking

(2)highlighting (3} dragging

{4} pointing (5} None of these
To_____adocument means to make
changes 1o its existing content.
{1)}format (2) save

(3)edit {4) print

(5) None of these

Whera is the disk pu# to enable the
computer toreadit ?

(1) Disk drive (2} Memaory
{3)CPU (4 ALY

{5) None of thesa

Which of the following is not an ex-
ample of hardware ?

{1YMouse {2} Printer

{3) Monitor {4} EXCEL

(5) None of these

Which of the following is part of the
System Unit 7

() Monitor {2} CPU

{3) CD-ROM {4} Floppy Disk
{5)Mone of these

IT stands for

(1) Information Technology

(2} Integrated Technology

(3) Intalligent Technology

{4) interesting Technology

{5) Nonsa of thesa

Something which has easily-utider-
stood instructions is saidto be

(1} user friendly {2) information

(3) word processing
{4) icon (5) None of these
What is the full form of KB related to
computer?

~ (1)KeyBlock  {2) Kemsel Boot
(3)Kilo Byte {4) KiBit -
{5)None of thase

211,

212,

213,

214,

215,

218,

217,

218.

218,

Whatis the purpose of Software Docu-

menting?

{1)use and maintenance of software

(2) to sell software at handsome price

(3)to sell software to many custom-
ars .

{4)1o0 show its importance

{5)None of these

Persona! computers are connected

toform__ '

(1}Server

(2ySuper Computer

{3)Network (4) Enterprise

{5)None of these

What does happen in RAM

when computer is turned off?

{1}Operating System

(2yBIOS

(3)Soitware Application

(4)Nothing

{5)None of thess

When you save the following, the data -

would remain intact even after turn-

ing off computer?

(1)RAM (2) Motherbeard

{3) Secondary Storage Devica

“{4) Ptimary Storage Device

{5)None of these

Allthe deletediles go to
{1)Recyclebin  (2) Task bar
(3) Too! Bar (4) My Computer
{5)None of these :
What is the shape of CDs?

{1} Quadrilateral {2) Rectangular
{3) Circular (4) Hexagonal

(5) None of these

The name given to a document by
useriscalled

(1) Filename {2) Program
(3}Data _ {4) Record
(5}None of these

Whatis output?

(1) Processor takes from user
(2)User gives to processor
(3)Processor gets from user
(4)Processor gives to user
{5}None of these

The blinking symbol which mdlcates
the next character will appear at
which place, iscaited

“{1)Deletekey - {2) Control key
{3}Cursor -+ {4) Return key’
(5}Nong ofthese:

A small figure which depicts some
application on the sereen is called

{17 Mena +42) Photo
. {3)Modem +{4) Icon
{5)Nane of these . -
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. 8. (1)A +2 sC +3 JF +2

== ANSWERS B || 18 (2)[ 186.(1)| 187.(3)] 188.(4) H
189.(1)]| 190. (4)[ 191. (1) | 192. ()| | 48 . +2 .00 43 5 42 o
1.2 24| 3(Q@)] 43 193.(3) | 194.(3)| 195.(4)| 1€8. (1) o - '
s e@| 7| s || [1e7.@ | 1s8 @) 199. @) 200, (1) R—2Eu—22 w2 7]
S.(1)] 10.(5) | 11.(1) | 12 (4) 201. (4) | 202 (2)] 203 (3)| 204. (3) 8. (1) '
’13- G 14.0) | 165.(2) | 16.(4) 205. (1) | 206. (4)| 207.(2)| 208. (1) D R O W N E D
17.(5)] 18.(2) | 19.(5) | 20.(3) 209. (1)| 210. (3)] 211. (1)] 212.(3) -1l +1d-1d —1d 41l -1l
21.(2)] 22.(1) | ZB.(2) | 24.(1) 213 (4) | 214. (3)] 215. (1) ] 216. (3) C Q P V. M F C
25.(1)] 26.(5) | 27.(29) | 28 (4) 217.(1)| 218 (4)| 218.(3)| 220. (4) Now, =
20.(5)] 30.() | 31.(3)| 32 (2
B.(5)] 4(1)] 5@ | 3604 || = EXPLANATIONS &= | 1. (Csz)ig sgd—goga‘ffz:?
Z- ﬁ; 43:- g; z E?z :g- (3) 1 @) =7=40-30+20+8x2
: ' - (2) 3 81189 15 20 20
45. ()] 46.(3) | 47.(1) | 48.(2) CHARTOT =7=40-30+ == x2
49.(5)] 50.(5) | 51.(3) | 52.(4) 2@ 12 3 [a]5[6] 7 8 =7=40-304+5=15
53.(2)| 54.(2) | 85.(1) | 56.(5) ga@n g‘:}'r;;ﬂ;] G (11-18):
7.(4)] 58.3) | 59.(2) | 60.(1) ]! - ) w|[5
61 @ 2w |eaE | a@|l *@ c—-H F—25K SHENELE]IE B
65.(2)| 66.(3) | 67.(2) | 68 (4) Similarly S é E 2
69.(1)] 70.5) | 71.3) | 72. @) M—*® L R.P_t .y I ©
73.(4)0 74.(1)| 785.(2) | 76.(3) 43U N DE R _ 1. (1)Haiéris placed to the immediate
77.(2)| 78.(2) | 79.(4) | 80.(1) AR right of Whirlpool.
81.(3)| 82.(5 | 83.(4) | 84. (2 6 15 2 @ 12. (4) Whiripool is placed third to the
8.(3)| 8.(1) | 87.(5) | 88.(4) DEATF leftof Godrel, |
89.@) | 9.3 [ 9.3 [ %0 Ll 13. g)i::it:rhps_lsplacedf:fthtothe right of
9. (2)] 94.(4)| 9.5 96.(2) 5 2 # 7 14. (1) Whirlpool is placed fifth from the
97.(1)| 98.(3)] 99.(4)| 100. (5) Therefore, leftend.
101. (4)| 102.(3)].108. (2)| 104. (1) | | FRAUD 16. (2) Haier is third to the right of
105. (5) | 106. (27| 107. (5)| 108. (4) N A A Toshiba. .
100.(5)| 110. 3| 111.@)| 112. (1) 7@ # 6 5 = ;‘2 d“;:;?;zp'acedbe“”ee”Wh'”p""'
113.(4)| 114.(1)| 115.(5) | 116.(2) 5(1)8 6 217 945 17. (5) From both the statements
117.3)| 118.@) | 119. ()| 120. (4) ] 12456789 :
121. (1) | 122.(2)| 123. (5) | 124. (4) 6. (4) Sa, na—>she may
125, (2) | 126.(1)| 127.(4)| 128. (1) FLOWERS—>EKNVDgR | 12 [ka] ta —>[work] ts[worship]
129.(3) | 130. 3)| 131. @) | 132. (5) L :}"‘TT 11| 18 (2)From Statement i
133, (3)| 134.(4)| 135.(1)] 136.(3) =1 IRER
137.(5)| 138.(%)] 139.(2)| 140. (5) -1 T 6th  oth
141, (3) 142, (a)| 143. (1) | 144. (2) :} 19. (5) Fror:l bqththe Staternents
2D ) X s ey scn o
(1) 150. (2)| 151. (4)] 152. (3) SUDREME—>RTO LD )
53, (4)| 154.(3)| 155. (2)| 156. (1) L =L 4 > 15 km
157. (2)| 158.(2)| 159. (3)| 160. (4) ' -1 T X
161. (1) 162.(4)| 163.(1)| 164. (3)| | = Startin"é e m
165. (5)| 166.(3) | 167.(1)| 168.(2) 4 Pomt A g10wm 8|
169. (4) [ 170. (4)| 171. ()| 172. (3) Lo -
173. (5)| 174. (8)| 175.(2)| 176. 5) 7. (1) Ac_:cordmgloquestlon - w . E )
77.(5)| 178.(3)| 178.(4)] 180. (2) 13978465 g s
181() 182.(3)| 183. ()] 184. (1) 5t from Tight '
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_ Required distance = AF =5 km

N
W E
S
From Staternent I
C 10 km Tj
A
20 km
Starting
20 km o
Point ? . —5 +
5 .
o
F 30 km E

Required distance =AF =5 km

21. {2) Third highest number = 615
Now, 6 x 5 =30 }
22. (1) 756 = 657: 421 = 124;
| 843 = 348,815 = 516;
597.= 795

Lowest number=-124
Now,1+2=3
23. (2) 756 = 457 = 547;
421 =122 =212;
B43 = 544 = 454;
815= 316 = 136;
597 = 208 = 928

Second Lowest. number = 212

=5 421
(24 -29):

{iy Allsilverare metals — Universal

Affirmative (A-type}.

(#) Some steel are stones — Par-

ticuiar Affirmative (I-type).

(i) Noletter is symbol — Universal

Negative (E-type).

{iv) Some lotiers are not symbols —

Particutar Negative {O-type}.
24, (1) all silver are metals.

All mi€tals are steel.
A+ A= A-type of Conclusion
“All silver are stoel”

Some steel are stones.

All stones are stands.
1+ A= I-type of Conclusion

“Some steel are stands.”
Conclusion lii is Converse of it.

25 km

Conclusion IV is Converse ¢i tha third
Premise.

(1) All chairs are tables.

All tables are songs.
A+ A= Adype of Conclusion
“All chairs are songs.”
It is Conciusion il

Conciusion | is Converse of the first
Premise.

(5) Some covers are plates.

"

All plates are papers.

|4+ A= l-type of Conclusion.
“Some covers are papars.”

{2) All shoes are tables.

. Some tﬁl&nes.

A +1 = No Conclusion
Conclusion Il is the Converse of the
first Premise,

{4) A} branytﬂes,_.
All bottles are machines.

A+ A= A-type of Canclusion

“Adl brands are machines”

All botiles are machines,

/

All machines are files.’
A+ A= A-type of Conclusion
“All bottles are files”

All machines are files.

All files are roois.

A+ A= A-type of Conciusion
“Ali machines are roots.”

Congclusion il is the implication of this
conclusicn.

All brands are machines.

All machines are files.

A+ A= A-type of Conclusion

“All brands are files.”

It is Conclusion: V.

Conclusion lis Converse of the third

Prerise.

31.

. (2) |Number [Number | Tawer

All brands are files.

All files are roots.
A+ A= A-type of Conclusion
“All brands are roots ¥

Conclusion H is the iImplication of this
Conclusion.

, {5) Al alphubets are syinbols.

Some symhaols are numbers.

A+ = No Conclusion

Conciusion IV is the Converse of the
third Premise.

Conclusions 1 and 1l form comple-
mentary Pair. Therefors, either Con-
clusion | or i follows.

(1S DG PIT A
Llllyy
@8 16 2 4

Condition (i) is applicable.

B)ZIEAKM

R A A A
92ZB P 3 #

Condition {iii) is applicable.

@ WARMF Q

N A
% 8 7 # % ©
5) ED S K I M
AR
5% @ 3 2 $

Condition (i) is appticable.
M DEQGTF A
LlLuyd
a5 188

E Z A I
E
# 2 5 9 8 3

Condition {j} is applicable. )
{(4) 4thtothe leftof the 10thfromihe
right end means 14th from the right
end, i.e., E.

) M X
Lod

- Thera is only one such combination :

564
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38.

4,

47,

{4} According to question, the new
sequence would be

4356([7281
L.+

Bth from the left

(3) | Letter [Consonant| Vowel

Such combinations are ;
[
(3) 413 57 2 .4

$;3

+2

sY 5
c U8 50
p -*3.\'1; 2,5
@ +3 L +2 5T

(1) Ineach subsequent figure all the
designs move one-half step in the
anticlockwise direction.

. {3} From Problem Figure (1) to (2)

che biock becomes white. Similar
changes occur from Problem Figure
(3) to (4} and from Problem Figure
(5] to Answer Figure,

(1) Inthe subsequent figures the main
cesign rotates through 45° and 90°
anticlockwise alternately and ong
curve is deleted in each subsequent'
figure.

(2) Inthe subsequent figures half part
of one block gets shaded in a set or-
der.

. {1) in each subsequent figure the

number of blocks is decreasing by
(3} In each subsequent figure the ling
segment rotates through 45° clock-
wisg, the triangle becomes shaded
8iter every two figures, the smaller
fine segment moves outwards and

inwards and a smaller line segment

is introduced in the triangle after ev-
ery two figuras.

{1) In the subseguent figures the main
design rotates through 90° clockwise
and 180° alternately and ong black
dot appears within the circle alter-
natety.

(2) In each subsequent figure all the
four designs move one-half step in
clockwise direction,

(5)Inthe subsequent figures the main
design rotates through 45° and 90°
clockwise alternatety and a new de-
sign appears inside theé circie in each
subsedguent figure,

81,

988

81,

. (2) 7=

. (8) In the subsequent figures respec-

tively one, two, three, four, five ----
designs are added and the number
of each type of designs is also in-
creasing by one.

(3) ?:%x5=8{}

. (4) 7 =12.541 3244 _34.87

=10.11

. (1) 7=16-25+36=27
L (5)?7=17-15=2
. (4) ?=425+ 363536 =252

256

i (3)T=8

=P=—=32

8

36+16x36><—1§- '

L {2) T
. 2
=3(5?»+64=10'0 =50
2 e

1

2
X 2=360x—-x—=48

(3) 7=162.54320.8-4206 .
=627

6 55 7 11
(B 7= —X"-X— =z
35 48 4 32
25-18 9 .1
_2-lb 5,1
B} 7= 36-28 8 '8
?x 30
gy 220
@) g =54
54 %100
0. 23X100 a0
= 30

(2) 7=39.94+48.36—-21.76
=66.54

(3) /2 =12+1=13
. ?7=13x13=169
18

L2y 7 =12+—-—10
) 5

=15-10=5
(4) 37x3%:35=237
=37+9-5-37 0 711

74,

726 e
(1) _;@:121 = ?x121=726

, {B)? = 950 237 +187 = 900

L@ ?=JT=>J«?=2=>?-=_4'

52

'{2)9x—=182

100

18300 _ 550,

7=

324225

. (4) ——— =3

?
::-'?xB 99::‘?—%~33

11
{1)273 -83 =
1 -1

N Rk =_'-3'_.2--j=-_'1.-'_'

=585 — 285 = 300
(3} 4 xside =Perimeter of square
= 4 x side = 48

48
" =Side = —'4" =12 ¢m. )

{2} Arﬁaum received by each per-

73
son=—6—=F{ 3z

23 .
(2y Ram:Rahim=3:2
=15:10

Rahim: Aman=5:2=10:4
- Ram: Fiahim L Aman
=15:10:4 _

. Ram: Aman=15:4

{4} Letthe numberbe x, -
L X+T7e=52 '

=X+ 48=52

=x=52-49=3 .
(1) Decirnal equwaiemoieachfrac-
tion:

B 3 . :
=0.714 ;— =03
10

|en

11
13

Slo N

=055 ; =0.85

=06

SRR

_ R
Second largest iractian'::? _
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81,

(3) .- CPof28 pens=Hs. 420
: 420
- — %20
. CP of 20 pens = Rs. ( 28 _ )
"=Rs. 300

. {6) Remaining toffges with Jyoti
=620 4220 - 130 =270

? 18

() s =

32 7

= 7232 % 18= 42 % 62

=?=y42x6% =4x6= 24
(2) SP of the article = Cos1 prrce +
profit

._Hs (1650+210) = Rs. 1860
: (3) Requared peroentage increase

12

"*-—xloo 20
- T60

1) Let the breadth ofrectanglebe X

metre.

Length = {x + 4} metre
ooX(x+4)=221=13x 17 _
. x=13metre

. {5) LetVijay's present age = x yoars

*. ' Surajs presentaga
=6x years

6x—x =20
--.:-Sx W=x=4

Suraj s present age=6x4

=24 years’

(4 Letthe nurnber be X.

o2 Principal x Time x Rate

4050 2% 8
100
(3} Letthe amount with Ajitbe ﬂs X
~. Arnounit with Anuj

=RS _Hsﬁ-d-ﬁ

k = Hs. {x— 26}

Amount with Ravi = Rs. (x - 86)

& X+ X—26 4+ X—86=200

91,

o 3x=200+112=312

ﬁﬂ 104
3- =Hs. }

{3} Wtarks obtained by the eandidate
=230-38=102

SeX=

92

S8,

=rd=

(1) M 1Dy = MzD,
=15 x20 =My x 25
15x 20
- 25
(2} The word SOME has four dis-

tinct lettors

. Number of arrangements
=4=4x3x2x1=24

(4} The pattern of the number se-
ries is:

F+2=9,

9+3=12,
12+ 4=186,
16 +5=21,
21 4+ 6=27,

27+7=

. {5} The pattern of the number se-

ries is:
256:2-128
128 :2=64
64+2=32
32+:2=16
16+2=8

8:+2=
(2) Required average

_112+102 +133+116+127

590
o -us
5

{1} -- As.690=6 calculators

Rs. 520

6 .
s—x920 =8
660 calculators

(3) rr2 = 154

22
=>'*,‘:,"xr2=‘!54

154 x7
22

=r=7
.~ Diameter =2r=14 cm.
(4} 2x+3x+5x=180°

= 10x = 180° @
it T

. Required sum=2x + 51-(-: 7X

=18°

=7x18=126°

100.

{5) 30x30=900
31 x31 =961

.+ Required number
=980--961=19

101

102
108,

104,
105.
106.

107.

108.

100.
110,

111

H2.

13

114,

115.

{4) They had tasted the laddoos pre-
pared for their neighbour's son's blrth-
day

(3) To keep the fact that they were
preparing iaddoos a secret from their
neighbours .

{2) They were misers and did not
spend even on keeping their house
in good condition

{1) Only (A}

{5) Not clearly mentionad in the pas-

-sage

{2) The sight of the oid couple whom
they had presurned dead, alive

{5) The fear of being hurt in the fire
{4) The quantity of laddoos that they
hadmade : _
(5) They dutifully arranged the
couple’s last rites

{3} Neither of them wanted to be the
first to speak and lose the bet

{2) The meaning of the word Share
(Noun) as used in the passage is :
portion; one parl of something that is
divided betwean two or more people.
Look &t the sentence :

How much was your share in the
profit? -

Hence, the words share and part are
SYNoNymous,

{1} The meaning of tte word Break
(Verb) as used in the passageis : to
interrupt something so that it ends
suddenly.

Look at the sentence :

He broke the silence by coughing.
Hence, the words breaks and inter-
rupts are synonymous.

(4) The meaning of the word Pass
{Verb) as used in the passage is:
when time passes, it goes by; elapse,
Hence, the words passed and-
elapsed are synonymous.

{1) The meaning of the word Stifl
{Adjsctive) as used inthe passage
is 7 not moving; calm and quiet.

Look at the sentance : _

The kids found it hard to stay stif).
Hence, the words still and restless
are antonymous because the word
restless means : unable to stay still
or ba happy whete you are; disturbed,
(5) The meaning of.the word Last
{(Adjective) as used in the passage
is : final; only remaining.

Look at the sentence '

The last thing he needed was more
work. '
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116.
17

118,

119

120.

121.

Hence, the words last and 1|rsl are
antonymous.
(2) The word ‘invest’ takes preposi-

tion ‘in'. Hence, ‘investing in such'|

schemes’ will be a correct usage.
{3) Here, Gerund should be used.
Hence, replace thanks the manager
by ‘thanking the manager’.

(2) ‘The siructure of sentence in
Simple Past in Passive Voiceis 1 Sub-

Iect + was/were + V5. Hence, replace

‘award the contract by ‘awarded the
contract’.

(1)'According tovln aooordance wrth’
is a correct idiomatic expression.
Hence, repiace ‘Accordingly the cir-
cular by ‘According to the circular'.
(4) Here they'is in Plural Number that
wili agres with a Piural Verb. Hence,
‘offer to customers’ should be used.
(1) ‘A large number of’ is followed by

" Plural Noun. Hence, ‘A large number

122

123,
124,

125,

126,
) 128,

128.
129,
130.
131,
133.
135.
136.
137.
138.
139.
140,

166. (3)

of policies’ will be & correct usage.

{2) For non living Nouns ‘Which' is

used as reflexive pronoun. Hence ‘the

_government body which' will be a coe-

ract usage.

{5) Noerror.

{4) The word lmmedlaialy is an Ad-
verb which modifies a Verb. Hencs,
‘should start saving immediately’ wilt

-be a correct usage.

(2) Look at the following structure of

Interrogative sentences in Past Con-

lnuous

What/whyfwhere + was/were +V, A~
ing) Adjective

Hence, ‘'were you late this morning'’
will be a correct usage.

(1) The appropriate word should be :
foundad.

(4}The appropriate word should ba ;

up.
i 1) Thé comect spelllng is prormsed

(5} All correct. :

(3) The correct spelling is : absenca.

(2} buy 132. (5)but

(3) decidad 134. (4)as

{1) side

{3) Distressed

(5) dismounted

{1)onto

(2) saddlé

(5) cried

P X AWIB
N A A A
3 0 9 7 4 8

- B X

o~
=R - PR N R
""“'-”..o<—>< i

00— =

A

i

9
B
d
4]
Y
N
8

N e =
o« m
R

Q

171. (1) Alphabetical
{3} admire
1
(5) admit
{1)advance
{
{4) adverse
4
(2} afraid

172. (3) Alphabeticai order of words :

(2) degree
3

(5) derail
i

{3) desirs
L

(1) detail
l

(4) discuss

173. (5} Aiphabetical order of words ;

{1} small
‘L.
(4) smelt
1)
(5) smile
Xl
{2) smiog
\:
{3) smoke

174, {4) Alphabeticai ordar of words

(2} roar

{

{3) roast

' \

{4) rock

l .

(5) rogue -

- 1
(1) role

rder of words ;

175,

176.

(2) Alphabstical order of words :
" (4) regret
1
(9) relapss
4
(2) relax
R
(3} relay
)
(1) relief
(5) Miscellaneous

77. (5)Miscellansous

178.
179
180.
181.

182.

183,

184,

- 186.

187.

188.
180.
192,
193

194,
195.
196.
197,

198,

214
215,
216
217,
218.
219,

220. (4)lcon

(3) Spons
{4} Science and Health
(2} SociatIssues

(2) keyboard

(3) a controf unit and an arlthmetic
logic unit

{1) multnasking : _
{1) ROM 185. (2} ALU

{1} Computers are very fast and can
store huge amounts of data

(3} programming

(4)Hardware 189, (1) Printers

(4) Internst 191 (1} An MP3iile
(2) minimise & window

{3} share information and/or share
peripheral equipment

{3) menu bar

{4} Executing

(1)EXE _ _
(2) Password should be maximum &
characters in length-

(3)icon’

. {3} An operatmg system

{1) microprocessor

(4) peripherals
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